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1 Which of the following is a plant hardening chémical ?
(1) PMA (2)y CCC
(3) Kaolin (4) Ca€ly
e 4 & Sm—w e ol ¥ g & ufy eges ar wiaeesr
EEfm) gor & Swam ¥ fam\gwar ¥ 7
nH e (2) @ @
(3) wantaA (4) Hivaom AR

2 Agro-Climatic Zone~Il ‘a-semi-arid Eastern plain includes :
(1) Ajmer, Dausa, Jaipur and Tonk districts
(2) Alwar, Bharatpur, Dholpur and Dausa districts
(3)  Sikar, Nhunjhunu, Chhru and Nagaur districts
(4) daipue, Sikar, Ajmer and Tonk districts

FY-Iwag @ve [-T-wdyss gl Aer &= § @ amg 3N
(1)," s=mR, <, SAyg wE IS

(2) oWEY, WiEgL, 9l TE <@l

3) Y, ggd, @ W TR

(4) Y, WAy, SRR T e

3 The atmospheric layer wherein weather plienomenon like rain, clouds, fog
dew etc. occur is called -

(1) Stratosphere (2)( Thermosphere
(3) Troposphere (4) Mesosphere
gfed A0 ¥ @ wEd ¥k

(1) wAEHa (2) oHERAY

(3) AR (4) PriesaR

4 Depending upon the volume of spray fluid, the ultra low volume spray
has spray volume of -
(1) ~< 1 litre/ha (2) 5 - 15 litretha
(3J\. 50 - 100 litre/ha (4) < 50 litre/ha

de ward @0 W WEn % SNYR WX afedl &Y uEn 8w e axw g
B/ T S Al —
(1) 1 ¥ oy FRw ¥ @9
(2) 5 - 15 e ufy TR
(3) 50 - 100 wWex Wiy FFET
(4) 50 WX Wia FFaT ¥ w9
9 Al 2 [Contd...



5 A person walks with a speed of one kilometre pet hour covering a swath
of 0.5 m wide. Calculate the time required, to\spray an area of 0.5 ha.

() 0.1 hr (2) 20~hc
(3) 10 br (4) OLMhr

e A Uh RRarMITT TR HeT @b ia @ 0.5 WieX 98l o Tl % Wiy
W Bl ¥, 3 AR W 0.5 FRWR &9 ¥ ® o & fwu fema w
e ?

(1) 0.1 &< (2) 20 HeI
(3) 10 e 4y 19

6 Biolophds/is“an/a -

(1) _“lInsecticide (2) Herbicide
(8. “Fungicide (4) Bactericide
TEGE il E P

(1) @R (2) SRS
(3) wIEeN (4) SaTgE

7 Which of the following is the most_ suitable sprinkler pressure for most
of the crops -

(1) 1-1.5 kg/cm? ) 1.5-3.5 kg/em?

(3) 3.5-7.0 kg/em? (4) 10-15 kg/cm?

aiftererd WS waE § ATwR fiE & fag e § § Sm-w gee Suge
Qg & 7

(1) 1-1.5 faw/ @t ad (2) 1.5-3.5 Teur/ =t @
(3) 3.5-7.0 fun /@t @A (4)  10-15 R /= €=

8 Which one of the following terms expresses climate -

(1) Rainy (2) Cloudy

(3) Arnd (4) Foggy

e § F 39T 9= Searg ® Sfere mEine ?
(1) <R (2) g

G) U= (4) TG
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11

12

Which of the following crops are most sensitige, to frost

(1) Peas and Brinjal (2) Wheab\and Cabbage

(3) Wheat and Barley (4) Barley and Cauly flower
T W HAUEm AT Sl B e

(1) w2 wd 94 (2) T wd waE

(G) T e S @ S d peEmd

The type of certificafion*under National Programme for Organic Production
in India is -

(1) Product( €ertification

(2) Proéess” Certification

(3) “Preduct cum Process Certification

(4p \Quality Certification

g ¥ WL WAl IR HRHH & aed [hH WehlE &I YA Lor fopar
S % 7

(1) TUE YHOTG

(2) wimar wHMENETT

(3) SR Ud GREr yEie

(4) U WHTS T

Recovery of applied phosphOrus”by a crop ts generally -

() < 15% (2) 15 - 40%

(3) 41 - 60% @) 6l - 65%

[HTAAT T4, P TR BRERY T B GE g’ sagier fedaem widar £ 7
(1) 15 vlasE ¥ »A (2) 15 - 40 wfagE

(3) 41 - 60 wfsrr @) 61 - 65 ufugE

Integrate of leaf area index over the whole growth period of*crép in called -

) CGR (2) LAR

(3) LAD (4) RGR

HEd % PUghe w9 9T qUig & gaee P 9Nud H ded & —
(1) WSLAR. (2) TETRIT.

(3) TATIL. (4) OMTH.AAR,
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13  Some part of energy received from the sun is reflecteéd back to space by
earth and the reflectivity is termed as :

(1) Back radiation (2) _Albedeo
(3) Soil heat flux (4) (Sensible heat flux

T 9w FaE Sl ® PB A oie ¥ " wEkid @ sl
¥, TRl B wEd §

(1) =mE faRew (2) uftasy
(3) W& TS SAHEAE (4) gdEa Se SiliEmE

14  Value ol-sdlap constant is -

() AS54rCal cmi? min™! (2) 1.74 Cal cm™? min™!
(3194 Cal em™ min~! (4) 2.94 Cal cm? min~!
i HEE< B/ AW T -

(1) 1.54 Cal cm™2 min™! (2) 174 Cal cm® mmin!
(3) 1.94 Cal ¢cm™> min! 4) 2.94 Cal 'y min~!

15 The general rate of application of bi0-fertitizer for one ha of main

field is -

(1) Zkg (2) 5 kg

(3) 7.5 kg (4) 10 kg

0% FRAT §F%d & AN W SdXe SEH h UM & R’y & 7
(1) 2 fear (2) 5 Tepel

3) 7.5 Tt 4) 10 fsar

16 Barrén‘\ears in maize is caused by the deficiency of -

(1), Boron (2) Zinc

(3) Nitrogen (4)  Sulphur

g o & N F IR AR F g H S E o ¥ 2
(1) = 2) &I

(3) g (4) WY

96_A] 5 [Contd...
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19

20

Blind hoeing is mostly practiced in -

(1) Tobacco (2) Cotton
(3) Sugarcane (4) Marze
I ey WA RREH @l ST %N
(1) =% (2}~ &I
(3) T (4)  HFBI

Seed rate for tobacco(is, -

(1) 1 kg/ha (2) 3 kg/ha

(3) 6 kg/ha (4) 10 kg/ha

TRE b MUNTNT BT E -

(1) I heenm ufa deeay (2) 3 e Wit FEET
() OOV ia FFAx (4) 10 Tediam wid ¥R

The substances which usually move from site of production of site of action
in plant are called -

{1) Hormones {2) Action cliemicals

(3) Maturity regulators (4) Germination regulators

T wErd S wHReRET WY ¥ o S\ ¥ TR wa @ ol S
%, @l A T -

(1) ERE= (2)\ foran <Ewm

(3) uTFEar ETE (4) s Frasw

Which one of the following statements does not hold true for protected
cultivation ?

(1) Crops can be grown around the year and more income per unit area
(2) High ifpatsuse efficiency and higher yield than open field
(3) Low input use efficiency and higher yield than open field

(4) Good management of insects, diseases and weeds with exportquality
produce

e H § BT U BT WS Biedyd & 0 GeLaE ¥ °?
() w6 g O SURN S w3, U Ul TR g9 iy ond |
(2) e SEy S &9dT U9 Go W@ ¥ Slde) YEET |
(3) w0 MY ST @ g B ¥ Lifie, e |
(@) e dMIEl ud wXuaed & o wagee @ e @ e

adre |
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The amount of waler required to irrigate one hectaré crop area to a depth
of 45 cm is -

(1) 4.50.000 litre (2) 400,000 litre
(3)  45,00,000 litre (@,(5,00.000 litre

U BRET BOW &5 T 4.5 .. TEdE 9% fHEE @ | 99 @ SEegesdl
T -

(1) 4,50,000 feex (2) 4,00,000 TereT
(3) 45,00,000 fwex (4) 5,00,000 faex

India has¢been divided into 15 broad agro-climate zones by -
{1~ Indian Council of Agricultural Research

(2)° National Bureau of Soil Survey and Land Use Planning
(3) Planning Commission

(4) National Agricultural Research Project

I WY Reg dvan [ S R 15 o iy qwarg, &t o fawie fea
T E 7

(1) W gy srgdum aRwe

@) v ga s ok yREwE A s
(3) ST SN

(4) e BN AgHYD aREe

The concept of an element to be essential if it is a constituent of plant
metabolite was given by -

(1)~ NArnon and Stout (2) Epstein

(3) Flowers et at (4) Compen

R HE g Wi F S e uledr @ o g g Wl % g
S dd PEART | T8 STEURVN {thdch Z <D T ?

(1) oFF &K wWee (2) IR
(3) vwEd 3 @) ®EE

9% A] 7 [Contd...




24  Which of the following facts is not true abouf iotfiophores ?

(D
(2)

(4)

lonophores are light weight organiC_mielecules

They are produced by plant. reots and micro-organisms in the
rhizosphere

Valinomycin is related to Kt ion

Ionophores can sdbstitute micronutrients

ffaflag o @Femaw AW F I F ®E TR %7

(1)
(2)

)
)

SATEEI Bwh qo & BEMH &9 B & |

HEATRIT TEetemEy 9 IuRed qel & st qan 9o tal grq-swited
fou @ ¥

I T e ¥ g9 sEAwi ¥
HEAHR & TR qT& B A B &gl &

25  Which of the following facts is not true \?

M
€5
3)
*

Legumes have higher nitrate reductase activity in roots than leaves
Cereals have more nitrat&_feductase activities in leaves than roots
Nitrate reduction~oecurs in cytosol

Nitrate reduttase) plays an important role in nitrate reduction

Frafafad H @ SE-a7 90 g8l 98 & 7

M

(2

(3)
(4)

96_A]

TS wEE H qradl W gadan o wWe § gl Neww diafataty
WET T ¥

ST IR wEw H Eee Reww @ o w= 9 Gt aRw &
B T

T ew™ agaEm § s &
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27

Which of the following facts is not true about\nitrogen management ?

(1) Loss of NH; from fertilizers nitrogén-gvabout 10-15% of applied

fertilizer nitrogen
(2) Higher percentage of NH; is [st-from manure than that of fertilizer
(3) Vegetation increases nitrate leaching
(4) Urea contributes 80% of total fertilizer N used in India
frefoflea & @ @G B T yee & o e o we W@ ¥ 7
(1) P TS th & T 10-15 TR T & FEr & &6
A iedid €
(2) TR A amen wde § SUE MEtET & g 'l ¥
ATl A Migde wene 9% AW ¥
(4) 9 ¥ J@ T Sl H 80 Wi AER gREn w1 oE |

Which of the following statements is true about LER (Land Equivalent
Ratio)

(1) It indicates about how much the relative yield increase in one
component crops is greater.than mother component crop.

(2) LER > | means intererepping is beneficial
(3) LER indicates aboutythonetary advantage only

(4) LER can be.used in replacement series only

Prefafeq waW W Y ST Fo9 (LR, (Y TR SgIW) F I
¥ uy ¥

(1) AR UG 9% BN B 391 § J&I HHE B IS B AU IS
& q ¥ T ¥ o

(2) 9 THIIR. @ AN Us O offkm ¥ O epavws/adl
WS )

(3) THIEAR. daw e @9 & ar ¥ Mo @ ¥

(4) TUWZ.OR. B SUNT GRS gEe & TEEieT ¥ B S gwdn g |

9 A] 9 {Contd...
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Ratio of relative crowding coeftficient (RCC) of any given species in the
mixture 18 known as -

(1) Competition coefficient (2) Competition index

(3) Relative yield total (4) \Companion index

e waw o frdl oyl & _aNE e Tonie (IREE) & eru @t
Hel Sl & |

(1) it qoiies (2) wiaafa qaws

(3) PR "W I (4) HUFET TUHE

Plants which Can“lower only within a definite range of light hours, abpve
and below~which no flowering occurs -

(1)  Amphiphotoperiodic plants
(2)« Infermediate plants

(8}~ Long-short day plants

(4) Short-long day plants

o dig R oy @ uw Tiea @ oemty Hilder & ow oem ¥
AWM YT A R T R IR A o Y@ hel Wl -

(1) S99 weigr Hodr dig

(2) Yl G U

() Wby [T vy G DY
(4) wg-TT vy €19 AG

Which of the followiig~agro-climate zone coverts the main regions of
Maharashtra, majer «pasts of MP and parts of Rajasthan -

(1) Transgenic (plains

(2) Central ‘Blateau and hills

(3) Western Plateau and hills

(4) AVestern dry region

frfafad & & ®-w FN SEary &9 WY & ger A heawRy &
eI 9T U TeRaE % 3o e @ winfag e @4

(1) gt f@m &=

(2) WA YR IR wEEl &

3) Ul wer &k wEEr &=

4) wiyed g &=

96_A] 10 [Contd...



31 Per hectare NPK consumption in Rajasthan dugingy2011-12 was -

(1) 60 kg (2) 30(kg

(3) 90 kg (4) Ni8.kg

af 2011-12 % SOF TeRAE ANFRL AR TG @ wua 81 -
(1) 60 fpar (2) 30 T

(3) 90 RRsll (4) 18 femelr

32 Crop water‘use ‘efficiency (CWUE) is expressed as -

WK - Cropyield

(1) Water requirement
CWUE = Yield index

(2) Water requirement
CWUE = Biological Yield

(3) Water requirement
CWUE = Crop Yield

) Evapotranspiration

BYW A6 SUAN dHAl L genTa Rewr Wt ¥ -

B SIS
SGRSIEESE ]

(1 @@@?{\§=

YeTa YaBie
S AT chdl

@) Ae=ggi=

St W
WA HTAYgHA]

) Wesgyi-

_ el 39U
(4) @féﬁg?{f—w p—
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33 Raised bed and furrow method of irrigation isqatype of -
(1) Furrow urigation method (2) Corugation rrigation method
(3) Surge irrigation method  (4) Dwch irrigation method

SHU w0 W@ gshity ue Rien gt -

(1) ws g &ty = @2). metg fHad [y @
() = RuE faftr @ ) & fieE R @

34 In hght textured soils;the ideal method of irrigation for wheat crop is -
(1) Drip method (2) Flood method
(3) Sprinkler “method (4) Border irrigation
D AMGENT JaT § NE & Baw H oy snesl Riwnd fafy ¥ <
(1) Zumr faiy (2) < wag fafy

G Swa iy (Ham ) (@) SRy RiEE

35 \UDistrict having highest area under gram in Rajasthan,is -

(1) Ganganagar (2) Bikaner

(3) Jaipur 4 Churu

e H T4 & wEa o ofuesan doww, i frer & -
(1) TR (2) @R

(3) wEgE @) g8

36 Which of the following is g\ variety of sweet corn -

(1) PEHM-2 (2) HQPM-1
(3) Navjot (4) Madhuri
frea & @ SR WS wem B e 2
(1) WIwged.-2 (2) TG~
(3) e 4) =gl
37 Double zero group varieties (00) of soyabean matures in, ¢
(I) 155 - 158 days (2) 140 - 148 days
(3) 117 - 120 days (4) 126 - 130 days
e W sEA g (00) Reed @ ufiuemar sEfrd -
(1) 155 - 158 f&= (2) 140 < 143 T
(3) 117 - 120 &= (4) 126 % 130 &
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The most accurate and dependable method of $clieduling irrigation is -

(1) Based on soil water content {Water status)

(2) Meteorological criteria
(3) Plant appearance

(4) Indicator plant

g argge @ el fyeaey @ o Tl ¥ -
(1) 9&1 &I & °E0 g eiER Ut

(2) Al fem wErd d

(3) uedw fe@iEe % MU W

(4) URY Hdds & ONHR W

Which_one of the following pairs is not correctly matched ?
{1)» Sodic soil - Gypsum

(2) Saline soil - Laching

3) Acd soil - Burn lime

(4) Highly saline water - Sprinkler irrgation

frer % & dm-m ww g gavm T8 3O

(1) @l o - forew

(2) wauiE gar — feErem

(3) orelry J&T - SR FAT

@) ofum waiE s« G i

Which one of the following fertilizer mixtures is compatible for fertigation -
(1) Ammonitm Sulphate with potassium chloride

(2) Calcium nitrate with phosphate

(3) Bi-ammonium phosphate with magnesium salt

(4)~\Potassium nitrate with urea

fe ¥ @ P Sde few v % fio Wi e
(1) om~Ea gehe & @ dRbad TR

(2) HfeyEM ARLZ & TA BEET

(3) SH-GRIEH B % WY AHIEE, e

@) dRfEw Eie & W g

96_A] 13 [Contd...
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Which of the following relationship about application of fertilizer and
manure is true

A

Fusarium head blight in wheat decrgase-with increase in nitrogen dose.
B - Yellow rust i wheat increases/as the nitrogen dose decreases.

C - Application of FYM supresses the soil borne pathogen Plasmediophor
brassicae

D - Trichoderma harzianim had a preference for ammonium sulphate.
Select the correct sanswer using the codes given below :

(I) A, B and 'C (2 B and C

(3) C agdh\D (4) B, Cand D

THE IR TR F S § R ¥ Prefwiew § @F-a awm\E @ T

AN Tz gus ¥ ghe & g W W welam ¥ ogeaw A @ el
BRI E

B - TNOM @U® B BN W T F A T H IR ¥

C - MR & @r B v el sfa o mrnaiRareT shw w® gee
wH B T

D - TEwEal sRrEE, eMifEr gebe d Wiy garde g feamar ¥
WY Ru U Bis & ST &EERl Sa) & g9 el |
(1) A, B C (2) Ba®m C

() Cam D (4 B, C@mD

Short rotation cycle of multiple purpose trees in an alternate land use systern
consists of -

(1} L5 years (2) 6 - 15 years

{3) ) 16 - 25 years {4y 26 - 60 years

Joferss i Swd uslkt ¥ sguardt Ost @ WY mEw\de ol aaty
Bl ¥ -

() 5af § &A ) 6 - 1'ad

(3) 16 - 25 99 (4) 26 - 60 ay

9% Al 14 [Contd...
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Select the correct answer using the codes gived Below :
A - Bulk density of tilled soil is more ghan the untilled soil.
B - Roots occupy only a tenth of thelsoil mass.

C - The optimum range of soil toisfure for effective ploughing is
75-80 percent depletion of Seil moisture

D - One centimetre of surface soil over one hectare of land weights about

1,50 ¢
(1) A, Band C (2) Band C
(3) B and D {4y D Only

T RY R aE & W w gE SO @ 99 B

A- g @ fied @ wm e T geE @ el e
B & |

By wmracu o fedl ¥ qomm & qEd Wor & oauEr el € |

C - 99 e ¥ fig fagdt B AN seaw dEaE T s @
75-80 ®migdl ¥ |

D - T& gday i B SUl UF Goried, gl ® awq 1.50 =9 g
¥

(1) A, BwaE C (2)N\¢B a1 C
(3) Bauw D 4)" dada D

Which one of the follewing is correctly matched with saline soils ?
(1) Ece more tham\ 4 dS/m, pH less than 8.5

(2) Ece moresthan 4 dS/m, pH more than 8.5

(3) Ece less than 4 dS/m, pH less than 8.5

(4) ESP less than 15, pH more than 8.5

st el ¥ o B ¥ ¥ dea W@ E 2

(I Ece 4 dS$/m & oifyes, pH 8.5 & &1

(2) Ece 4 dS/m ¥ «ifyw, pH 8.5 ¥ oftes

(3) Ece 4 dS/m ¥ &4, pH 8.5 ¥ &A

(4) ESP 15 ¥ &%, pH 8.5 ¥ oifys

9% A] 15 [Contd...




45  The most common nitrification inhibitor is -
(1) Thiourea (2) Nesérve
(3) Sulphydral (4)s, ‘Methyl urea
O W 0w e TEfhee wfifeer ¥ -
(1) wvrgf @) w-ad
(3) UrhHTHEET 4y Thamw gian
46 Blue green algae _are completely -
(1) Autotrephic (2} Heterotrophic
(3) ‘'Obligate heterotrOplaic 4) (2) and (3)
I, 0T Tl el ' -
() siiagftes & @) Reddfes 2
() difEttie ReUdfes ¥ 4 @ 3
47 Whch of the following is called as true ‘mustard ?
(1) Brassica juncea (2 Brassica napus
(3) Brassica nigra (4) Brassica carinata
frer ¥ 4 Rewe w9 @i ®en § S oS § 2
(1) st sy ) R T
(3) sifww fp (4y R Bk
48 Seed rate for fodder oat is -
()90 - 80 kg/ha (2) 90 - 100 kg/ha
(3)” 50 - 60 kg/ha (4) 20 - 25 kg/ha
URT W§ % g de @ a F -
(1) 70 - 80 fopetmm / =TT (2) 90 - 100NeU™ [ Foeuy
(3) 50 - 60 RedumA / ¥eRax  (4) 20 %25 Tepwium [ ¥R
96_A] 16

[Contd...



49

50

51

52

In universal soil loss equation (USLE) K indicates® about -

(1) Soil cover and management

(2) Soil loss from a unit plot

(3) Erosion control practice

(4) Length and Steepness of slope

aEdiis gl g wieor (quaand) § F feed ey § Pm
EZGIIE

() el RemT s veem  (2) @E waw & Pl & e
() T& HeE G B (4) W @ wEE ud deaw

Fluchloralin\is' more effective to control -
(1) Monocotyledonous weeds (2) Dicotyledonous weeds
(3)(/Both (1) and (2) (4) Perennial weeds

TR e A frewl FBa e % R g gve ¥2
(1) U doEl w@rugarn @) 9N ThEE
G) = (1) 3R () (4) 9T @EER

Which one of the following pairs is nop~correctly matched ?
(1) Aminization - Heterotrophic baoctéria

(2) Aminization - Autotrophic bacteria

(3) Ammonification - Hetergtrophic bacteria

(4) Nitrification - Autotsophic bacteria

= & @ sF-w -G 98 gaftia & ¥ 2
(1)  uirmESE  cfRagies dRim

(2) uRFEsaad - sfafes e

(3) uwAfEes - Reeifes dfa

(4) AEEfedse - sfidEfee SeRfEn

Inverse Yield Nitrogen law was proposed by ?

1) Wilcox (2) Macy

{3) Blackman (4) Mitscherlich
foulia sust em fre ey e gkoRefen @ ?
(1) oy (2) T

(3) =EI (4) Brsmfem
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55

56

Which of the following bacteria are responsible Yfor denitrification ?

(1)  Pseudomonas, Bacillus (2) Clostridinm, Anabinae

(3) Bacillus, Paracoccus 4y (I and (3)

frr ¥ @ B AR fEmdaigd fo Sawerl ® 7

(1) wEHEw, It @y~ aeifefemm, T

() faww, e 4y (1) T (3)

In which of the following form copper is absorbed by the plant ?
(1) Cuprous (2) Cupric

(3) Cupric oxide 4y (1) and (2)

P ¥ 9 dElNa s w9 A9 @i sEnite e S v 7
(1) @) wes

() it eftwass @ )

Which one of the following forms of phosphorous is predominant in soil
above pH 7.2 7

(1) H3PO, (2) H,PO,

() HPO, @) PO,

el % pH Wi 7.2 ¥ ofvd BN W WIEHRE @ B9 U6 Y@
Far ¥ 7

(1) HyPO, (2)» HyPO,

(G) HPO, 4 PO,

Consider the following_crops -

A Bajra B Cotton

C  Maize D  Sorghum

Which one of.the following is the correct sequence of the above cigps
according to the period of the development of first hybrid varieties in (ridia.

() . B-C-A-D 2) A-C-B-D
GY\NC-A-B-D 4 C-B-A-D
Sefied waa R fEr &8 |

A g&Ta B oUW

C Ha=hl D =

gRd § yom we( Rpedl & fuew @ oafy B REE ¥ (wew ¥ a| A

B q) BEE & G AIET HET-E &

(), B-C-A-D (2) ANC -
- B

B-D
3) C-A-B-D (4 C-B-A-D
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37  Which one of the following statements is not ‘cdrrectly matched with
essentiaty of elements ?

(1) A plant is unable to complete its dite-Cycle without that element

(2) A plant can complete vegetativ€ growth under complete deficiency
of that element

(3) A specific deficiency of the element can be corrected by supplying
that particular element to plant

(4) The nutrient must{have direct influence on the plant and involved
in metabolic activities of plant

Pt o & - BT Que el B enayamar & fag gAfi e ¥ 2
() 96 WEe\Ta & fou dean sltaT o% g Tl e

(2) SENUE T B PO gEa ¥ 9w amEie ghe e aedy s
@) OoWd 7 faw ar & i b ol Wwe g & v A el
(4)”" T qed B WY 9T dien HrET 9 ST Surqey BEatal § 9T war d

S8 Which one of the followings is a non-selective (herbicide ?

(1) Simazine (2) Alachler
(3) Diquat (4) Metasulfuron
1 ¥ ¥ PF-wr ww sEviee el 7
(1) = @2) TAET

(3) sHEET (4) TeawrRIH

59  Which of the followings are biennial weeds ?
(1) Trianthemg/spp. and vicia spp.
(2) Cichorium intybus and Cirsium vulgare
(3) Bermudagrass and Quack grass

(4) “Amaranthus viridis and Phyllanthus fraternus
o 8 ot ewaar ¥ -

() zEem wd fafimn spp.

(2) Tl serTe wd i ae

(3) e G W A

4) M Rrfew wd weerdE e
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Green revolution if India was a result of -

(1) Better crop management

(2) lrrigation facilities

(3) Fertilizer Application

(4) Development of dwarf varigtie§)of wheat and rice
aa W ela wifw w1 @ A

(1) <EaX B&A T

(2) Riag gl

(3) I WA

4y W& ol aw, W A el w fem

Consider the “ollowing statements -

A Ioose filling is done for silage making

B _*Control of weeds through stale seed bed technique is a culturalémethod
of weed control

Which of the statements given above is/are correct ?

(1) A only (2) B only

(3) Both A and B (4) Neither A nar B

Frfafas wol wx RER & |

A uEew g & fag S o @ SR |

B Prawr dw frn Rl & memm 4 eyeder e ww s Rl R

e ¥ @ a-q wuT wdl & 7

(1) ®ad@ A 2y %aw B

(3) = A X B @Y A ST B % off &

Consider the following, -

Organic matter in séi-influences

A Soil moisture B  Soil strength

C Soil structure D  Soil texture

E Soil temperature

Select the cofrect answer using the code given below :

(1) A, B, C and D only (2) A B, C and E only
(3) ~A, C, D and E only (4) A, B, C, D and E only
ffaiga wo W RER & )

Fahe gard Ted § uwim e ¥

A A T W B W 9 &l

C a1 Xl @l D Prdl aaEe wm

E frd & awe @ |
49 Rw U A &1 sw W g GE STR @ g dL
() %aw@ A, B, C 8l D (2) Fw A, B, C 3T E
(3) %A@ A, C, D 3R E (4) %AW A, B, C, D 3R E
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63  Which one of the following nutrients is most jfamobile in soil ?
(1) Nitrogen (2) Phospherbus
(3) Potassium (4) «Sulphur
e o & B Tive aw PrINGCRed w1 aadr ¥ o4 wed sawE
Rex® ?
(1) g (2) EHE
(3) urRfirem 4) "

64 A real break,thfough in selective chemical weed control was achieved id
1945 with the \discovery of -

(1) 254D (2) MCPA

() ~MCPB (4) (1) and (2)

qUieRF AT @OAaR s ¥ arafe feT 1945 ¥ P o @ Q@
A TS —

(1) 2, 48 2) T,

(3) TR (4 (1) &R

65 Gum content in clusterbean seed is

(1) 20 - 25% @) " 28 - 30%

() 35 - 40% 4 12 - 15%

TR € ¥ ™ (nE) dony —

(1) 20 - 25 gfered (2) 28 - 30 gy
(3) 35 - 40 wfew @) 12 - 15 yfaya

66 The mam practice for dust mulching is -
(1) (Addition of pond silt (2) Interculture operation
(3)~ Addition of FYM (4) Addition of Gypsuni
YW ORI W e w9 9 e wen ¥ -
(1) IWE & Mg ST (2) oid: iy frang
(3) MEX & @We e (4) TR \g
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67 Which of the followings are the common, herbicides of group “the
substituted ureas” ?

(1) Diuron, fluometuron and linuron
(2) Praquate, isocil and perbacil
(3) Metoxuron, picloram and\dmitrol
(4) Fenac, dicamba and DCPA

P ® @ B9-@ Temel “wafceRs yfam @ & ¢ 7
(1) SERE wegiee o ferr

() R, RN ud TaR

(¢) e, e o uige

@) e, fem g fedidia

68 (Alfernate land use system include -

(1) Agroforestry (2) Pastures

(3) Tree farming (4) All of above
S i SwET WO & amhw ¥ -

(1) g i (@) e

Gy Tu N @) \ST0w W

69 Striga lutea is associated withi?

(1) Rice (2) Wheat
(3) Sorghum (4) Cotton
WET g w-ueiE Ty B ot o?
(1) = @ W
(3) =ra 4 HI™

70 _(Which weed species is known as “Canary grass” ?

(1) Avena fatua (2) Phalaris mingr

(3) Sorghum halepense (4) Poa annua

fhe TRUAER wetd @ CHAN T d VLA I ¥ 7
(1) e wgen (2) WwRE TR

(3) W™ TWUH (4) R g
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In metabolic reactions of herbicides when the\indtermediate chemicals
become more phytotoxic than parent compewindy/the process is called -

(1) Forward metabolism (2) _Reverse metabolism
(3) Fast metabolism (43 (A1) and (3)

el & SureR frmet § e meradt w@em i dfe 3w
WEH SIFUTY B W & A 9" WRRAT @bl dEd & -

(1) ®REE AeEifaed (2) Tad i
(3) IS TEEIEy @ ()T (3)

Example of¢volatile herbicide is -

(1) Iseproturon (2) EPTC
(3) (>Atrazine (4) 2, 4D
HRAT BTN B IIEIT T —

(1) oEEmeN (2) I
(3) uwgEA 4 2, 43

Which of these herbicide is used to coriral® weeds in “Zero tillage™ ?
(I) Pendimethalin (2)*, Raraquat

(3) Isoproturon (#A» Atrazine

e & & w weeel CaRedn ¥ ataaet & Pt e &
g wm fem s ¥ G

1) T=RHEAEE (2) U

(3)  SEERRIA 4) Tgni
Sodic_seils can be made more productive by adding -
(1) Boron (2) Calcium |

(3)-/ Phosphorous (4) Sodium

aro iy & = § & feger v @t afe S femm o
el & 7

(1) s (2) Hhewm
(3) wiEhR™ 4) wfsag
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75 Which is a beneficial element for rice ?
(1) Secdium (2) Siligdn
(3) Vanadium (4) lodine
aEm % fu B Y @ e aas® " 2 7
(1) @fsEm (25 Tl
() =HiEEm (4) omafET
76  Which of the following, is an organic fertilizer ?
(1) Anhydrous ammonia (2) Diammonium phosphate
(3) Single super- phosphate {4y Urea
frmr ¥ 4 @l Ue RAfqew 39T § 7
(1) Toroleis ST (2) S THFEY Biehe
(3) RFUFT wiehe @
77 . Sulfosulfuron herbicide is applied as -
¢y Pre-planting (2) Pre-irrigation
(3) Pre-emergence (4) Post-emergence
YERIEERg QT w1 s fear S ¥ -
(1) TEE - & @) ey ~gd
() Tt @ (4) FriwER
78 Select the correct answer using the, ¢odes given below
A Actual ET equals maximum¢ET of crop where available soil water
to the crops is adequate
B  Crop coefficient value$zar€fow during the early state of crop growth
C  Pan coefficient (Kp)\reflect the effect of climate on ET,
D  Relationship between”ET and Crop yield is quadratic in cereals
Codes :
(1) A, B and.C 2) A, Band D
(3) B, C.andD 4y A, Cand D
T Ru T wiE @ IW@T FB G IAO B oA Bl
A HEW & araE arelidele, dftemen s & el 3 e/ar
SUAS Al Wi WEWl & fue wara §)
B\\ WEW V(i B A GE! b KW B ARAEE T HIRENET B
C 9 U (kp) b1 A STER] bi ATES U UM B q9m §
D S 9l BEd ¥ Srodicas U7 BEA B gUSNG a1 g we
B ¥
FE ¢
(1) A BaixC (2) AMBNWR D
(3) B, C 8RR D (4) A C3RD
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79  Soil pores of less than about mm in diameter are considered as

microspores.

(1) 0.06 mm (2) 0.002_mm
(3) 0.02 mm (4) 00 mm
el @ w7 = 9w e @ g O we W R
(1) 0.06 Bl 2y 0.002 firly
(3) 0.02 B 4) 0.01 By

80 The soil moisture coiitent’ at which plants die is termed as -
(1) Permanent wilting point  (2) Ultimate wilting point

(3) Incipient_<vilting point (4) Critical wilting point
T N frg w0 o wd -
(1) W\ gGE Tolis (2) onRadl (srede) I Wik

() CARRYE TR Uik 4y wifds = ToE

81\ Vegetative lag period in rice is the period between -
(I) Maximum tillering and panicle initiation stage
(2) Active tillering and maximum tillering stagde
(3) Panicle initiation and booting stage
(4) Panicle initiation and heading
e W gt ofquw oty e (Y Rt errenal % A @ ety
(1) ofead e Freeem oD Yo ey erren
(2) Wipa B ol diftrn, oW FBE Bl oreEer
(3) g emiw ST sreRan
(4) oISl RN Sl e e @ arEmen

82  What is the leaching requirement when the EC of the saturation extracf
of the soil is 5 dS/m at 25% reduction in the yield of groundnut<when
the ECrof irrigation water is 2 dS/m.

(1) ~25% 2) 20%

(3) ~50% 4 10%

B ¥ 9y dw 9w R o B T wwednssEs S e
2 ¥ 9T Ul WX O o queet ¥ 25 whie e ¥ @l ¥ W
W RiEd ol A siasEer e (fwikiv Reswwe) fead eeh 2
(1) 25 wiaee (2) 20 uiygsma

(3) 50 wiasa (4) 10 uias=
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What is the irrigation efficiency when the watél ‘sonveyance and delivery
loss is 40%, deep percolation and surface vahoff on the farm is 30% and
evaporation loss from soil 15 20%.

(1) 50% 2O\, 34%

(3) 26% 4y’ 20%

IR g aEd ok R eEm 40 dRieE, S sEaEe ok ¥@d W
SaTE TR 30 whaeE o frd ¥ aefiewr 20 wiaym @ @ e qga
el s 7

(1) 50 whiigw (2) 34 wiae@

(3) 26 wiqsE (4) 20 wiasa

In drip/ fertigation, concentration of nutrients in irrigated water ise kept
arquid -

(' 100 ppm (2) 50 ppm

(3) 400 ppm (4) 500 ppm

By S TEhy § R % ot ¥ dum ael @l Fiwar @ o
T & -

(1) 100 difan (2) 50-~dmiieH

(3) 400 Wnituw (@) (500 ddun

Which one of the followings is~a\mid season correction technique for pearl
millet ?

(1) Use of lower seed ‘rafe (2) Use of higher seed rate
(3) Reducing plant, pepulation (4) Spray of glucose

fra ¥ ¥ fE-diNGly awu § we-mg gaw wom ¥ 7
(1) &9 4 <X B ST () afies €9 T B/ SUER
(3) Ul @ dem W T (4) TIEW b BEEE H

RT“346 is a popular variety of -

(1) Cowpea (2) Mung bean
(3) Sesame (4) Caster
A, 346 Wt e ¥ -

(1) == @ R

(3) Toa @t 4) SRUE @/
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Which one of the following statements does ndt ‘hold true for in-situ
moisture conservation ?

(1) Off season tillage and mulching

(2) Dead furrow and compartment bunding

(3) Excavated and embankment, ponds

(4) Keyline cultivation and graded* border strip

Fe 8 F wF-m e wown T e & R oww S %7
(1) B WEH ¥ qEiH ud year

(2) gM G T e HEEY

() UWHdE Ug\TEwTe ame

(@) weE 8 T Sfew e gl

The impoertant green manuring crop which produces nodules bath en-the
stenryand roots is -

(1) » Sesbenia speciosa (2) Sesbenia aculeata

3) Sesbenia wrilobus (4) Sesbenia rostrate

95 TEeEyel EREE Ol wew Ry e (Feged) ca T wi@ @l %
SR B ¥ -

(1) Tt TRy (2) wEiENTRfbge

3) wafm ey @) mEMm e

Broad bed furrow system (BBF) is<anéfficient system of in-situ moisture

conservation in soils.
(1) Red soil (2) Sub-montane soil
(3) Black soil (4) Deep alluvial soil

W At Fe yonedn, (@eww), G ¥ wnfee Tl e @ gy
fafr & -

(1) wm= g (2) wu-vdar
() wmn hd (4) 3 v B

First~variety of mustard developed by tissue culture technique$»in India
was »

(1) Kranti (2) Bio-902 (Jai Kisdn)

{(3) Pusa - 322 (4) NRCHB-501

TRd H fegeear g fiefig & © ol & gasfesr & -
(1) = (2) «EI-902 Grx Rrgw)

(3) TEr - 322 (4) TA.ARELTIEL-501
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Under normal conditions, per hectare plant population of maize is -

(1) 46,000 (2) 66,000
(3) 96,000 (4N 86,000
A Rafy & wiy YRwx wemp@r wEw § diel @ e ' o8 -
(1) 46,000 2) 66,000
(3) 96,000 4) 86,000

Which one of the following statements does not hold true for development
of wheat

(1) Distoyeéry of genes responsible for dwarfing and non-lodging habits
i’ “Norin” wheat varieties of Japan initiated high yielding) plant

@3\ “The first wheat variety having short plant type and high{grain yield
was “Norin-10”

(3) Norin-10 was brought to USA by §.C. Salmon from Japan

(4) Subsequently “Dee-gee-Woo-gen” was introduced in wheat plant
Ppg meei § ¥ uw NE % foew % few wELAE ¥ -

() afte RER FEw AN A AR e R osEmw T 9 %
g e S @t o A @S

(@) W B veell I (short type) ud wiftr TRl Bhe AIfe-107 o |
(¢) ARE-10° TEH. QEERET SE ¥ YUl @ R
@ ¥ S-S o W F G F wEEe feEmEn

For testing ofictigation and fertilizers factors, which of the following design
is commonlyCused -

(1) Randomized Block Design (2) Split Plot Design

(3){\Latin Square Design (4) Strip Plot Design

Rits ofic wihw wwal F e % fag R ¥ @ Rre@iRer T
& g fpm S oEO?

(1) urfos =ie AT (GREE) R

() i v (gatel) feeme

() of et feeE (Touwd)

@) T wie Rem (@ wie feeT)
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‘Dapog’ is an important method of raising seedliug' in -

(1) Linseed (2) Tobaceo

(3) Rice (4) “Lathyrus
S R we A sum Rify ¥ 2

(1) o @ (2) g A
(3) aEw @ (4) wurE

Which one of the following statements is correct for ground nut peg
formation in wsofl N

(1)  Minuté, plastids in the epidermal walls of pegs are responsibiéfer
geetrOpic movement.

(2} ~Gynophore is responsible for geotropic movement.
(3).)> Stipe is responsible for geotropic movement.

(4) Genophores are responsible for geotropic movemient,

e o Fmw s rest ¥ gl g A & Rig wR R

(1) Tagfe om % fag ggal o e g & srfead B B
ey e ¥

() WaERe o« % g ey S )

() Tt 9w % iy =y R §)

@) frogifte ow % fg e Reer)

Application of technolegies and principles to manage spatial and temporal
variability associatedvith all aspects of agricultural production for the
purpose of improving crop performance and environmental quality is called
as -

(1) Green farming (2) Protected agriculture

(3) (Precision farming (4) Sustainable agriculture
UH-Thlent Te Regrt 1 orgoiT el By saee & dattig e geqelt
@l e qan amiae fafireranall s yemm BY waw GEen qun arER
TR ®l TN A Tew fherlt ¥, weemwn ¥

(1) T (2) ada HW

(3) Riesw @@ (1) T B
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Which one of the following is not a variety, @)BT cotton ?

(1) MRCH - 6025 (2) RST9

(3) JKCH - 1947 4. {NECH - 6
e ¥ So-d ww fee 913 wawm W T ¥ 7
(1) THARELEE. - 6025 (2) RTEL - 9

(3) THETA - 1947 (4) TIZHLTE - 6
98 In case of perfest ccorrelation, the number of regression lines is -

1 o 2 1

(G) A2 4y 3

ol mgdy H, gaeEe Y@l @ den ' ¥ -

(L 2 1

G) 2 4 3
99  Qualitative variables is also referred as -

(1) Sample (2) -Aftnbute

(3) Character (4. Discrete observation

T @Y @ Frefafee ¥ feE\aw @ @ Star ¥ 7

(1) (2) Tsve

(3) =i (4) el SAIwIE
100 Degrees of freedom depends on -

(1) Numbef of observations in a set

(2) Null hypothesis

(3)\Number of independent observations in a set

{4 Tests of significance

wresmE wiren T s ¥ -

(1) ¥ ® Ig@idd @ g W

(2) - FENHMRE W

() W F =T S w g 9T

(4) ufeEt @ EEdEa 9
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